Contract Sheet Bid 18-070

THE STATE OF TEXAS
COUNTY OF FORT BEND 12 June
This memorandum of agreement made and entered into on the 2 day of 12, 2018, by and between Fort
Bend County in the State of Texas (hereinafter designated County), acting herein by County Judge Robert Hebert, by virtue
of an order of Fort Bend County Commissioners Court, and Allgood Construction Co; Trc.
(hereinafter designated Contractor).
WITNESSETH:
The Contractor and the County agree that the bid and specifications for the Construction of Crossover Road Improvement
Project from FM 1463 to Katy Flewellen Road (Spring Green Boulevard) which are hereto attached and made a part
hereof, together with this instrument and the bond (when required) shall constitute the full agreement and contract between
parties and for furnishing the items set out and described; the County agrees to pay the prices stipulated in the accepted bid.
It is further agreed that this contract shall not become binding or effective until signed by the parties hereto and a purchase
order authorizing the items desired has been issued.
Executed at Richmond, Texas this 29 day of 20 18.
Mry Wester Fort Bend County, Texas
By Grady Prestage, Commissioner, Precinct 2 Presiding Officer of Commissioners Court, June 12, 2018
By:
Signature of Contractor

By: Sterling Moore, President
Printed Name and Title



COUNTY PURCHASING AGENT Fort Bend County, Texas

Vendor Information

Debbie Kaminski, CPPB County Purchasing Agent Office (281) 341-8640

Legal Company Name (top line of W9)	Allgood Construction Co., Inc	
Business Name (if different from legal name)		
Federal ID # or S.S. #	76-0135291	
Type of Business	Corporation/LLC Partr Sole Proprietor/Individual Tax E	Exempt Organization
Publicly Traded Business	✓ No Yes Ticker Symbol	
Remittance Address	1702 Settega	ast Ranch Rd
City/State/Zip	Richmond	, TX 77406
Physical Address	1702 Settega	ast Ranch Rd
City/State/Zip	Richmond	, TX 77406
Phone/Fax Number	Phone: 281-499-9621 Fax:	281-261-5565
Contact Person	Sterling	g Moore
E-mail	bidding@allgood	construction.com
Check all that apply to the company listed above and provide certification number.	DBE-Disadvantaged Business Enterprise SBE-Small Business Enterprise HUB -Texas Historically Underutilized Business WBE-Women's Business Enterprise	Certification # Certification # Certification # Certification #
	<\$500,000	\$500,000-\$4,999,999
Company's gross annual receipts	\$5,000,000-\$16,999,999	\$17,000,000-\$22,399,999
aimuai receipts	>\$22,400,000	
NAICs codes (Please enter all that apply)		
Signature of Authorized Representative	Dla	
Printed Name	Sterling Moore	
Title	President	
Date	May 29,2018	

COUNTY PURCHASING AGENT

Fort Bend County, Texas



(281) 341-8640 Fax (281) 341-8645

May 24, 2018

TO: All Prospective Bidders

Addendum No. 1 - Fort Bend County Bid 18-070 - Construction of Crossover Road RE: Improvement Project from FM 1463 to Katy Flewellen Road (Spring Green Boulevard) for Fort Bend County Bond Project 13307

Addendum 1:
Attached is addendum 1 bid form and questions and answers issued by the engineer.

Immediately upon your receipt of this addendum, please fill out the following information and email this page to Jaime Kovar at jaime.kovar@fortbendcountytx.gov
Allgood Construction Co; Inc
Company Name
Lemette Colon 5/24/18
Signature of person receiving addendum Date

If you have any questions, please contact this office.

Sincerely,

Jaime Kovar

Assistant County Purchasing Agent

Form W-9 (Rev. December 2014)

(Rev. December 2014)
Department of the Treasury
Internal Revenue Service

Request for Taxpayer Identification Number and Certification

Give Form to the requester. Do not send to the IRS.

Internal	Revenue Service	l												•
				me is required on this	line; do not leave this line blant	ζ.								
	Allgood Cons	struction C	o., Inc.											
જાં	2 Business name/o	disregarded enti	ity name, if differ	rent from above										
page														
ed a	3 Check appropria	le box for feder	ral tax classificat	ion; check only one of	f the following seven boxes:									
Ö			_			☐ Trust	/estat	e cert	ain en	tities, n	ot ind	ividu	ıls; s	ee
pe										•				
Print or type Specific Instructions on		• -		· ·				-					ortino	
st c	the tax classifi	cation of the sir	LC that is disregi ngle-member ow	arded, do not check L Iner.	LC; cneck the appropriate box	in the line ab	ove t	31 }	•					'
بتاغ	Other (see inst	ructions) ►						1	-		nteined	oulside	the U.	.s.)
- 6	5 Address (number	, street, and ap	it. or suite no.)		1,	Requester	's nar	ne and a	dress	s (option	al)			
ĕ	1702 Settega	ast Ranch	Rd			1								
\bar{v}						1								
See	Richmond, Te	exas 7740	6											
1	7 List account num	ber(s) here (opt	lional)											
Par	Taxpay	er Identifi	cation Nun	ober (TIN)										
					e name given on line 1 to a	oid S	ocial	security	numb	oer				
							T			$\overline{\Box}$	T	Т		亓
reside	nt alien, sole propr	ietor, or disre	garded entity,	see the Part Linstru	uctions on page 3. For other	r.	1	-		•	-			
TIN on	s, it is your employ page 3.	eridentificatio	on number (Eli	N). If you do not have	ve a number, see How to g			لسل			ــــ	ــــــــــــــــــــــــــــــــــــــ		
		more than or	na nama saa t	ha instructions for t	line 1 and the chart on care			yer ident	ificati	on nun	ber			l
				the manuchons for t	inc i and the chart on paye	7101	-		1	П	1			i
•						7	6	-0	1	3 5	2	9	1	
Part	Certific	ation						1	لسل		ــــــــــــــــــــــــــــــــــــــ	اا		
		Certification se of perjury, I certify that: ser shown on this form is my correct taxpayer identification number (or I am waiting for a number to be issued to me); and subject to backup withholding because: (a) I am exempt from backup withholding, or (b) I have not been notified by the Internal Revenue (S) that I am subject to backup withholding; and citizen or other U.S. person (defined below); and citizen or other U.S. person (defined below); and code(s) entered on this form (if any) indicating that I am exempt from FATCA reporting is correct. Instructions. You must cross out item 2 above if you have been notified by the IRS that you are currently subject to backup withholding have failed to report all interest and dividends on your tax return. For real estate transactions, item 2 does not apply. For mortgage acquisition or abandonment of secured property, cancellation of debt, contributions to an individual retirement arrangement (IRA), and ments other than interest and dividends, you are not required to sign the certification, but you must provide your correct TIN. See the page 3. Pate 5/29/18 **Form 1098-C (canceled debt)* **Form 1099-C (canceled debt)*												
		• •		naver identification	number for Lam waiting to	r a number	to he	haussis	to me	el· and				
			=	•	, -					•		n		
				ing as a rooth or a	randro to roport all interest	0. 0.1100110	.0, 0.	(0) 11.0 1		40 1.011		110 11	iu. i	4111
3 lam	a IIS cilizen or o	other U.S. ner	rean (defined t	velony, and										
		•	•	• •	xemot from FATCA reporting	n is correc	ŧ							
						-		antiv cut	lact i	to har	(115.1	uithh	aldir	
														ij
interest	paid, acquisition	or abandonm	ent of secured	i property, cancella	tion of debt, contributions t	o an individ	lual r	etiremer	nt arra	angem	ent (l	ŘĂ).	and	
general	ly, payments othe	r than interest	t and dividend	s, you are not requi	ired to sign the certification	, but you m	ust p	rovide y	our c	correct	TIN.	See	the	
			Λ.				-							
Sign Here	Signature of	1/N	HW.		0.	. 5/29	9/18	}						
	U.S. person		J		D:	ite >								_
Gene	eral Instruct	ions				rtgage intere	st), 1	098-E (stu	udent	loan int	erest)	109	3-T	
Section	references are to the	Internal Reveni	ue Code unless i	otherwise noted.	• •	and adapts								
						-	100m	ant of sac						
					- rom ross-r (acquis									
Purpo	se of Form						5. pe	rson (inci	uaing	a residi	ent all	en), t	•	
		N-9 requester) :	who is required t	o file an information								t be s	ubje	ct
retum wi	th the IRS must obta	In your correct	taxpayer identific	cation number (TIN)				ıp withho	lding?	ou bag	e 2.			
						-								
identifica	tion number (EIN), to	report on an in	nformation return	the amount paid to		you are givi	ng is	correct (o	ryou	are wan	ing to	ranı	ımbe	r
you, or o returns in	iner amount reportat iclude, but are not iln	ие оп an inform nited to, the foll	iation return. Exa lowing:		•									
											exem	pt pa	yee.	1f
	•		from stocks or n	nutual funds)	applicable, you are also	certifying th	at as	a U.S. pe	rson,	your all	ocabi	sha		
	•	-											and	
• Form 19					4. Certify that FATCA	code(s) ente	red o	n this for	n (il a	ny) india	aling	that	you a	
brokers)		,			exempt from the FATC/	reporting, is								
 Form 10 	บษษ-5 (proceeds fron	a real estate tra	insactions)		page a ion wither intom	ration.								

• Form 1099-K (merchant card and third party network transactions)

Job No.: _18-070	
TAX FOL	RM/DEBT/ RESIDENCE CERTIFICATION (for Advertised Projects)
Taxpayer Identification Number (T.I.N.):	76-0135291
Company Name submitting Bid/Proposal:	Allgood Construction Co., Inc
Mailing Address: 1702 Settegast Ranch	
Are you registered to do business in the Sta	
	addresses of any partnership of which you are a general partner or any
I. Property: List all taxable property names. Include real and personal property necessary.)	y in Fort Bend County owned by you or above partnerships as well as any d/b/a property as well as mineral interest accounts. (Use a second sheet of paper if
	Property address or location**
9960-01-215-0063-901	1702 Settegast Ranch Rd, Richmond TX 77406
6615-01-001-0240-901	6703 Whitehill Ln Richmond,TX 77406
9410-06-006-0210-901	33007 Welney Ct. Fulshear TX 77441 33011 Welney Ct. Fulshear TX 77441
** For real property, specify the proper	on number assigned by the Fort Bend County Appraisal District. ty address or legal description. For business personal property, specify the For example, office equipment will normally be at your office, but inventory ocation.
II. <u>Fort Bend County Debt</u> - Do you tickets, fines, tolls, court judgment	owe any debts to Fort Bend County (taxes on properties listed in l above, s, etc.)?
Yes No ✓ If yes, atta	ach a separate page explaining the debt.
requests Residence Certification.	Int to Texas Government Code §2252.001 <i>et seq.</i> , as amended, Fort Bend County §2252.001 <i>et seq.</i> of the Government Code provides some restrictions on the speriment provisions of §2252.001 are stated below:
(3) "Nonresident bidder" refers to	o a person who is not a resident.
	a person whose principal place of business is in this state, including a parent company or majority owner has its principal place of business in
I certify that Allgood Constru [Company §2252.001.	uction Co., Inc is a Resident Bidder of Texas as defined in Government Code y Name]
•	is a Nonresident Bidder as defined in Government Code Name] blace of business is

[City and State]



Contractor Acknowledgement of Stormwater Management Program

I hereby acknowledge that I am aware of the stormwater management program and standard operating procedures developed by Fort Bend County in compliance with the TPDES General Permit No. TXR040000. I agree to comply with all applicable best management practices and standard operating procedures while conducting my services for Fort Bend County. I agree to conduct all services in a manner that does not introduce illicit discharges of pollutants to streets, stormwater inlets, drainage ditches or any portion of the drainage system. The following materials and/or pollutant sources must not be discharged to the drainage system as a result of any services provided:

- 1. Grass clippings, leaves, mulch, rocks, sand, dirt or other waste materials resulting from landscaping activities, (except those materials resulting from ditch mowing or maintenance activities)
- 2. Herbicides, pesticides and/or fertilizers, (except those intended for aquatic use)
- 3. Detergents, fuels, solvents, oils and/or lubricants, other equipment and/or vehicle fluids,
- 4. Other hazardous materials including paints, thinners, chemicals or related waste materials,
- 5. Uncontrolled dewatering discharges, equipment and/or vehicle wash waters,
- 6. Sanitary waste, trash, debris, or other waste products
- 7. Wastewater from wet saw machinery,
- 8. Other pollutants that degrade water quality or pose a threat to human health or the environment.

Furthermore, I agree to notify Fort Bend County immediately of any issue caused by or identified by:

Allgood Construction Co., Inc

(Company/Contractor)

that is believed to be an immediate threat to human health or the environment.

May 29,2018

Contractor Signature

Sterling Moore

Printed Name

President

Title



UTILITY & PAVING CONTRACTOR 1702 SETTEGAST RANCH ROAD, RICHMOND, TX 77406 (281) 499-9621 TELEPHONE * (281) 261-5565 FAX

References

Gary Goessler Brown and Gay Engineering 10777 Westheimer Rd. Ste. 400 Houston, TX 77042 281-488-8220

David Linedecker Clay & Linedecker 1350 Ave. D. Katy, TX 77493 281-391-0173

Guy Humphries Costello Engineering 990 Richmond Ave. Ste. 450 North Building Houston, TX 77042 713-783-7788

Fort Bend County

Bid 18-070 Construction of Crossover Road Improvement Project from FM 1463 to Katy Flewellen Road (Spring Green Boulevard) for Fort Bend County Bond Project 13307

Q&A 1

Question 1: On page 59 of the summary, it shows 60 LF of 54" sign mounts drill shafts, yet page 66 on the pole foundation chart, it specifies 60LF of 36B drill shafts. Please clarify.

Answer: Refer to Addendum #1 bid form.

Question 2: Is the owner or contractor responsible for construction staking?

Answer: Contractor is responsible for construction staking. Fort Bend County sets control staking.

Question 3: Is the owner or contractor responsible for the testing labs?

Answer: Owner (Fort Bend County).

Question 4: Could the use of TRU-BLN®, the mixed or blended lime/fly ash soil stabilizer, be considered on this project?

Answer: No. Lime and flyash must be applied separately at the construction site; a mixed/blended delivery is not permitted. Lime will be applied first, followed by flyash after the gradation requirements are met.

Question 5: The traffic signal foundations on this job have a bid item for 54" sign mounts and the plans call for 36B foundations. Please clarify.

Answer: Refer to Addendum #1 bid form.

Question 6: The bid item for the signal electric service does not match the plans. The bid item is an aluminum timber pol ELC SRV TY D 120/240 060(NS)AL(E)TP(O) and the plans call for a stainless enclosure on a steel pole. Please clarify.

Answer: Refer to Addendum #1 bid form.

Question 7: Bid item 80 and 91 appear to be the same item.

Answer: Refer to Addendum #1 bid form.

Question 8: Bid item 92, install photocell should be included in item 65, the service calls for enclosed photo cell.

Answer: Refer to Addendum #1 bid form.

378.00

378.00

BID SHEET

RECONSTRUCTION OF CROSSOVER ROAD FT. BEND MOBILITY PROJ: 13307

					CSJ No. 0912-34-196				
BID	<u> </u>	SPEC.							
ITEM		ITEM					UNIT		
NO.	REV.	NO.	QUANTITY	UNIT	BID ITEM DESCRIPTION		PRICE		BID AMOUNT
	EM NO.	_							
SECTI	ON 1 -	SITE PREP	ARATION A	ND EA		,			
1		Dwg	2.00	EA	Fort Bend County Project SignFurnish, Install & Remove)	\$	621.00	\$	1,242.00
2		102	33.50	STA	Clearing and Grubbing	\$	4,417.00	\$	147,969.50
3		110	7,168.00	CY	Excavation to Haul off Including 4"-Striping	\$	8.10	\$	58,060.80
4		110	2,472.00	LF	Earthen Swale	\$	3.78	\$	9,344.16
5		110	3,300.00	CY	Borrow/Engineered Fill Material	\$	8.10	\$	26,730.00
6		434	10.00	CY	Abandon Existing 5'x3' RCB (under FM 1463) With Flowable Fill	\$	270.00	\$	2,700.00
7		465	350.00	LF	Remove and Dispose of Existing Concrete or Metal Pipe (All Sizes)	\$	10.80	\$	3,780.00
8		495	1.00	EA	Removing Old Structures – Headwalls	\$	594.00	\$	594.00
9		495	260.00	LF	Removing & Dispose Existing Fence	\$	2.16	\$	561.60
10		500	8.00	EA	Remove and Relocate Traffic Signs, Mail Boxes, Roadway Signs	\$	170.64	\$	1,365.12
11		540	7,700.00	SY	Remove and dispose of Ex. Asph. surface and base material (All Depth)	\$	2.38	\$	18,326.00
					SUBTOTAL SECTION 1 - SITE PREPARATION AND EARTHWORK (Big	ł Ita	me 1 - 11)·	s	270,673.18
L					SUBTOTAL SECTION 1 - SITE PREPARATION AND EARTHWORK (DIC	1100	1113 1 - 11).	Ι.ΨΙ	270,070.10
SECTIO	ON 2 - P/	MANING							
12	REV	221	290.00	TON	Hydrated Lime or Commercial Lime Slurry (3% by Dry Weight)	\$	171.72	\$	49,798.80
13	I KEV	220	21,456.00	SY	Lime Stablized Sub Grade (8" Depth)	\$	2.38	\$	51,065.28
14		223	772.00		Fly Ash for Stabilization (8% by Dry Weight)	s	86.40	\$	66,700.80
	ļ. —	250	360.00		HMAC Base Course (Black Base), 8" Depth (Saw Cut is incidental)	\$	102.60	\$	36,936.00
15		230	300.00	TON	HMAC Type "D" Surface Course 2.5" Thick - Seal Coat (0.10 Gal/SY) is	13	102.60	3	30,930.00
16		324 & 340	112.00	TON	incidental	اړ	104.76	ا ا	11,733.12
13	-	200	10.510.00	CV	Reinforced Concrete Pavement - 8" Depth	\$ \$	42.25	\$	824,551.00
17		360 310	19,516.00 241.00	_ •	Prime Coat @ Rate of 0.30 Gal/SY	\$	5.40	\$	1,301.40
		360	18.00	SY	Saw Cut Ex. Pavement (12" Wide) & Tie to Ex. Edge of Pavement	\$	72.90	\$	1,312.20
19		530	13,380.00		6" Reinforced Concrete Curbs	\$	2.38	•	31,844.40
	ļ			LF	Tie to Existing Concrete Payment	1	8.10	\$	2,138.40
21		360 530	264.00 112.00		7" Thick Reinforced Concrete Driveway	\$	64.80	\$	7,257.60
22					Esplanades, Medians, and Directional Islands (6")	\$	64.80	-	6,480.00
23		535	100.00	SY	Coloring of Concrete (Black) in Median Noses	\$ \$	5.40	\$	540.00
24	ll	536	100.00	31	Coloring of Concrete (Black) in Median Moses	J.	3.40	4	340.00
1					SUBTOTAL SECTION 2 - PAVING (Bid	Iten	ns 12 - 24):	\$	1,091,659.00
L									
SECTIO	N 3 - ST	ORM SEWE	R						
25		429	3,613.00		Trench Safety Systems, 5' to 10' Depth	\$	0.11	\$	397.43
26		460	1,025.00	LF	Reinforced Concrete Pipe, C76, Class III, Rubber Gasket (24")	\$	55.61	\$	57,000.25
27		460	35.00	LF	Reinforced Concrete Pipe, C76, Class III, Rubber Gasket (36")	\$	94.89	\$	3,321.15
28		480	953.00	LF	Reinforced Concrete Box,C1433 (All Depths) - (5' x 3')	\$	246.59	\$	235,000.27
29		480	1,600.00	LF	Reinforced Concrete Box,C1433 (All Depths) - (5' x 4')	\$	269.56	\$	431,296.00
30		480	1.00	EA	Reinforced Concrete Box BEND,C1433 (All Depths) - (5' x 4')	\$	2,160.00	\$	2,160.00
31	1	463	1.00	EA	Safety End Treatment – Type II, (6:1) (PD-SPR) 36" RCP	\$	2,824.20	\$	2,824.20
32	† †	471	10.00	ΕA	Precast Concrete Standard Manhole (Depth 5 - 10 Feet)	s	4,044.60	\$	40,446.00
33	$\vdash \vdash \vdash$	472	1.00		Precast Concrete Junction Box	\$	4,357.80	\$	4,357.80
34	 	472	2.00		Precast Concrete Junction Box- TXDOT- Traffic Duty	\$	4,357.80	\$	8,715.60
35		472	14.00		Standard Type "C" Inlet	\$	1,641.60	\$	22,982.40
36	 	472	6.00		Standard Type "C" Inlet (MOD), 4" Slope Paving Included	\$	1,344.60	\$	8,067.60
37		472	2.00		Convert to Modified Inlet with 4" Slope Paving	\$	1,080.00	\$	2,160.00
37	-	400	1.00		Tie to Eviet Class Mechale	۳	1,000.00	٦	2,100.00

Addendum #1 1 of 4 Initials of Bidder: 5M

Tie to Exist. Storm Manhole

460

1.00

EA

	$\neg \neg$	T 1
	ہ ا	910 106 70
SUBTOTAL SECTION 3 - STORM SEWER (Bid Items 25 - 38	Έľ»	819,106.70

SECTION 4 - TRAFFIC CONTROL PLAN

39	665	24.00		Work Zone Pavement Markings 24" White/Solid (Removable) Furnished- Applied & Removed	\$	3.24	\$ 77.76
40	665	4,913.00	LF	Work Zone Pavement Markings 4" Yellow/Solid (DBL)(Removable) Furnished -Applied & Removed	\$	1.13	\$ 5,551.69
41	665	5,366.00	1 . –	Work Zone Pavement Markings 4" White/Solid (Removable) Furnished - Applied & Removed	\$	0.54	\$ 2,897.64
42	696	165.00	LF	CSB1(10) Barrier (Furnish & Install)	\$	60.48	\$ 9,979.20
43	696	1.00	EA	Absorb-16 (Furnish & Install)	\$	810.00	\$ 810.00
44	696	165.00	LF	CSB1(10) Barrier & Absorb-16 (Remove)	\$	10.80	\$ 1,782.00
_			<u> </u>	SUBTOTAL SECTION 4 - TRAFFIC CONTROL PLAN (Bid It	ems	39 - 44);	\$ 21,098.29

SECTION 5 - SIGNING AND PAVEMENT MARKINGS

45		624	6.00	EA	Aluminum Signs (Ground Mounted)- Furnish & Install	\$	307.80	\$ 1,846.80
46		660 & 663	6,710.00	LF	Reflectorized Pavement Markings Type I (Thermoplastic) 4" White/Dashed W/ TY II C-R- Bottons- Furnish & Applied	\$	0.83	\$ 5,569.30
47	REV	660 & 663	120.00	LF	REFL. PVMT MRK TYPE I - 12" (Y)-SOLID- W/ TY II C-R MARKERS	\$	4.54	\$ 544.80
48		660 & 663	300.00	LF	Reflectorized Pavement Markings Type I (Thermoplastic) 8" White/Solid W/TY II C-R Marker Botton (W)- Furnish & Applied	\$	2.27	\$ 681.00
49		660	560.00	LF	Reflectorized Pavement Markings Type I (Thermoplastic) 6" White/Solid - Furnish & Applied	\$	0.76	\$ 425.60
50		660	80.00	LF	Reflectorized Pavement Markings Type I (Thermoplastic) 12" White/Solid - Furnish & Applied	\$	2.43	\$ 194.40
51		660	90.00	LF	Reflectorized Pavernent Markings Type I (Thermoplastic) 24" White/Solid - Furnish & Applied	\$	5.02	\$ 451.80
52	REV	660	810.00	LF	Reflectorized Pavement Markings Type I)12" Yellow/Solid (Median Nose Curb Paint)- Furnish & Applied	\$	2.16	\$ 1,749.60
53		660	7.00	EA	Reflectorized Pavement Markings Type I (Thermoplastic) Word "ONLY" - Furnish & Applied	\$	124.20	\$ 869.40
54		660	7.00		Reflectorized Pavement Markings Type I (Thermoplastic) Single Arrow- Furnish & Applied	\$	127.44	\$ 892.08
55		624	4.00	EA	Street Name Sign (Ground Mounted)- Furnish & Install	\$	341.01	\$ 1,364.04
					SUBTOTAL SECTION 5 - SIGNING AND PAVEMENT MARKINGS (Bid	ten	ıs 45 - 55):	\$ 14,588.82

SECTION 6 - TRAFFIC SIGNAL

56		416	60.00	LF	DRILL SHAFT (SIGN MTS) (54 IN)	\$ 315.00	\$	18,900.00
57		618	380.00	LF	CONDT (PVC) (SCH 80) (2")	\$ 10.50	\$	3,990.00
58		618	40.00	LF	CONDT (PVC) (SCH 80) (4")	\$ 21.00	\$	840.00
59		620	395.00	LF	ELEC CONDR (NO.4) BARE	\$ 1.58	\$	624.10
60		620	1,165.00	LF	ELEC CONDR (NO.4) INSULATED	\$ 1.58	\$	1,840.70
61		621	430.00	LF	TRAY CABLE (4 CONDR) (12 AWG)	\$ 1.89	\$	812.70
62		624	1.00	EA	GROUND BOX TY D (162922)W/APRON	\$ 1,260.00	\$	1,260.00
63		625	558.00	LF	ZINC-COAT STL WIRE STRAND (1/4")	\$ 3.15	\$	1,757.70
64		625	910.00	LF	ZINC-COAT STL WIRE STRAND (5/16")	\$ 4.20	S	3,822.00
65	REV	628	1.00	EA	ELC SRV TY D 120/240 070 (NS) SS (E) SP(O) W/ PHOTO CELL	\$ 6,195.00	\$	6,195.00
66		636	64.00	SF	ALUMINUM SIGNS (TY A)	\$ 33.80	\$	2,163.20
67		644	2.00	EΑ	REMOVE SM RD SN SUP & AM	\$ 70.20	\$	140.40
68		644	1.00		INS SM RD SN SUP & AM TY 10 BWG(1) SA (T-EXAL) (W1-7, LEFT & RIGHT ARROW, 48"X24")	\$ 534.60	s	534.60
69		666	32.00	LF	REFL PAV MRK TY I (W)6"(DOT)(100MIL)	\$ 0.87	\$	27.84
70		666	34.00	LF	REFL PAV MRK TY I (W)24"(SLD)(100MIL)	\$ 5.67	\$	192.78
71		666	410.00	LF	REFL PAV MRK TY I (Y)4"(SLD)(100MIL)	\$ 0.59	\$	241.90

Initials of Bidder: 5M

Addendum #1

Fort Bend County

72		666	410.00	LF	PAVEMENT SEALER 4"	\$	0.09	\$	36.90
73		666	32.00	LF	PAVEMENT SEALER 6"	\$	0.11	\$	3.52
74		666	34.00	LF	PAVEMENT SEALER 24"	\$	0.32	\$	10.88
75		672	24.00	EA	REFL PAV MRKR TY II-A-A	\$	4.32	\$	103.68
76		677	60.00	LF	ELIM EXT PAV MRK & MRKS (4")	\$	0.49	\$	29.40
77		678	410.00	LF	PAV SURF PREP FOR MRK (4")	\$	0.09	\$	36.90
78		678	32.00	LF	PAV SURF PREP FOR MRK (6")	\$	0.11	\$	3.52
79		678	34.00	LF	PAV SURF PREP FOR MRK (24")	\$	0.32	\$	10.88
80	REV	680	1.00	EA	INSTALL HWY TRF SIG (SYSTEM) (NEMA TS-2 CONTROLLER) W/CONTROL CABINET (GRND MNT)	\$	39,709.95	\$	39,709.95
81		682	8.00	EA	VEH SIG SEC (12")LED(GRN)	s	262.50	\$	2,100.00
82	-	682	2.00	EA	VEH SIG SEC (12")LED(GRN ARW)	\$	262.50	\$	525.00
83		682	8.00	EA	VEH SIG SEC (12")LED(YEL)	\$	262.50	\$	2,100.00
84		682	8.00	EA	VEH SIG SEC (12")LED(RED)	\$	262.50	\$	2,100.00
85		682	6.00	EA	BACK PLATE (12")(3 SEC)	\$	84.00	s	504.00
86		682	2.00	EA	BACK PLATE (12")(4 SEC)	\$	105.00	\$	210.00
87	-	684	855.00	LF	TRF SIG CBL (TY A)(12 AWG)(7 CONDR)	\$	2.63	s	2,248.65
88		686	2.00	EA	INS TRAF SIG PL AM (S) STR (TY D)(34')	\$	6,615.00	\$	13,230.00
89		686	2.00	EA	INS TRAF SIG PL AM (S) STR (TY D)(34') W/ LUM	\$	7,140.00	\$	14,280.00
90		690	1.00	EA	INSTALL OF FND FOR GROUND MNT CABINETS	\$	2,625.00	\$	2,625.00
91	REV	690	0.00	EΑ	REMOVED - (NOT USED)	\$		\$	
92	REV	690	0.00	EΑ	REMOVED - (NOT USED)	\$		\$	
93		2143	1.00	EA	COUNTY GPS SERIAL COMMUNICATIONS MODULE	\$	420.00	\$	420.00
94		6025	4.00	EA	RADAR PRESENCE DETECTOR	\$	6,825.00	\$	27,300.00
95		6057	2.00	EA	RADAR ADVANCED DETECTION DEVICE	\$	7,140.00	\$	14,280.00
96		Preemption Specs	1.00	EΑ	AI 500-85 FMU2 PREEMPTION/PRIORITY SYSTEM	\$	2,205.00	\$	2,205.00
97		Preemption Specs	1.00	EΑ	HIGH GAIN ANTENNA KIT	\$	336.00	\$	336.00
98		Preemption Specs	1.00	EA	GLANCE SOFTWARE SUBSCRIPTION AND CONFIGURATION	\$	598.50	\$	598.50
99		Preemption Specs	1.00	EA	CONNECTIVITY & SUPPORT SERVICES PLAN (WITH CELLULAR DATA PLAN) - 5 YEAR PLAN	\$	2,625.00	\$	2,625.00
100		Preemption Specs	3.00	EA	AI 500-065 IN VEHICLE PREEMPTION/PRIORITY STSTEM	\$	2,835.00	\$	8,505.00
101		Preemption Specs	3.00	EA	GLANCE SOFTWARE SUBSCRIPTION AND CONFIGURATION	\$	609.00	\$	1,827.00
102		Preemption Specs	3.00	EA	CONNECTIVITY & SUPPORT SERVICES PLAN (WITH CELLULAR DATA PLAN) - 5 YEAR PLAN	\$	2,625.00	\$	7,875.00
				-	SUBTOTAL SECTION 6 - TRAFFIC SIGNAL (B	id Ite	ems 56 - 10	<u>2):</u>	189,182.70

SECTION 7 - STORM WATER POLLUTION PREVENTION PLAN

103		162	1,985.00	SY	Sodding for Erosion Control (various widths)	\$ 3.51	\$	6,967.35
104		165	3.53	AC	Hydro-mulch Seeding (For Erosion Control & Stablization)	\$ 1,350.00	\$	4,765.50
105		700	1.00	EΑ	TPDES General Permit No. TXR 150000, Notice of Intent (NOI) Application Fees (Contractor's NOI Fee & Harris County's NOI Fee, Each Fee shall be set price of \$325.00)	\$ 325.00	\$	325.00
106		713	200.00	LF	Reinforced Filter Fabric Barrier (60% of unit cost for furnish and installation and 40% of unit cost for removal)	\$ 1.35	\$	270.00
107		719	39.00	ĒΑ	Inlet Protection Barrier (Stage 1, With Reinforced Filter Fabric Fence; 60% of unit cost for furnish and installation, and 40% of unit cost for removal)	\$ 48.60	s	1,895.40
108	1	750	30.00	LF	Rock Filter Dam- TY 4 (Furnish, Install & Remove)	\$ 27.00	\$	810.00
109		724	267.00	SY	Stabilized Construction Access (Type 1-Rock; 60% of unit cost for furnish and installation, and 40% of unit cost for removal)	\$ 10.80	\$	2,883.60
110		730	1.00	EA	Concrete Truck Washout Structures (60% of unit cost for furnish and installation, and 40% of unit cost for removal)	\$ 864.00	s	864.00

3 of 4

Initials of Bidder: 5M

111		741	26.00	EA	Inlet Protection Barrier (For Stage II Inlets, Gravel Bags; 60% of unit cost for furnish and installation, and 40% of unit cost removal)	\$	10.80	\$	280.80
112		751	6.00	МО	SWPPP Inspection and Maintenance (Min. Bid - \$6,000/Month)	\$	6,000.00	\$	36,000.00
SUBTOTAL SECTION 7 - STORM WATER POLLUTION PREVENTION PLAN (Bid Items 103 - 112)							2):	55,061.65	

4 of 4

SUMMARY

SUBTOTAL SECTION 1 - SITE PREPARATION AND EARTHWORK (Bid Items 1 - 11):	\$	270,673.18
SUBTOTAL SECTION 2 - PAVING (Bid Items 12 - 24):	\$.	1,091,659.00
SUBTOTAL SECTION 3 - STORM SEWER (Bid Items 25 - 38):	\$	819,106.70
SUBTOTAL SECTION 4 - TRAFFIC CONTROL PLAN (Bid Items 39 - 44):	\$.	21,098.29
SUBTOTAL SECTION 5 - SIGNING AND PAVEMENT MARKINGS (Bid Items 45 - 55):	\$	14,588.82
SUBTOTAL SECTION 6 - TRAFFIC SIGNAL (Bid Items 56 - 102):	\$	189,182.70
SUBTOTAL SECTION 7 - STORM WATER POLLUTION PREVENTION PLAN (Bid Items 103 - 112):	\$.	55,061.65
BASE BID - GRAND TOTAL (Bid Items 1 through 112):	\$	2,461,370.34

CERTIFICATE OF INTERESTED PARTIES

FORM **1295**

1 of 1

	Complete Nos. 1 - 4 and 6 if there are interested parties. Complete Nos. 1, 2, 3, 5, and 6 if there are no interested parties.	OFFICE USE ONLY CERTIFICATION OF FILING								
1	Name of business entity filing form, and the city, state and count of business.	Certificate Number: 2018-355813								
	Allgood Construction Company, Inc.	2010-000010								
	Richmond, TX United States	Date Filed:								
2	Name of governmental entity or state agency that is a party to th being filed.	e contract for which the form is	05/18/2018							
	Fort Bend County	Date Acknowledged:								
		06/12/2018								
3	Provide the identification number used by the governmental entity or state agency to track or identify the contract, and provide a description of the services, goods, or other property to be provided under the contract.									
	B18-070									
	Construction of Crossover Road Improvement Project from Fl	M 1463 to Katy Flewellen Road (Sp	ring Green Bo	ulevard)						
_			N:	ature of interest						
4	Name of Interested Party	City, State, Country (place of busin	ess) (cl	heck applicable)						
			Contro	lling Intermediary						
_										
_										
				-						
				1						
 5	Check only if there is NO Interested Party.									
6	UNSWORN DECLARATION		···							
	My nama is	الخار المحارب المحرم	hirth is							
	My name is	, and my date of	wii ui 13	·						
	My address is			,						
	(street)		ate) (zip co	ode) (country)						
	I declare under penalty of perjury that the foregoing is true and correct	t.								
	Executed inCounty	/. State of on the	day of	. 20 .						
	County	,, +, on the		(month) (year)						
	Signature of authorized agent of contracting business entity									
	(Declarant)									